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Find The Errors Questions for CGL Tier 1 & SSC 10+2 

Find the Errors Quiz 4 

Directions: In the following question, some part of the sentence may have errors. 

Find out which part of the sentence has an error and select the appropriate option. If 

a sentence is free from error, select 'No Error'. 

1. I met the gentleman (A) / this morning on my way (B) / to the market. (C) / 

No error (D) 

A. I met the gentleman  B. this morning on my way C. to the market 

D. No error 

2. Unless he apologizes (A)/he should not be (B)/allowed to stay with us. (C)/No 

error (D) 

A. Unless he apologizes B. he should not be  C. allowed to stay with us 

D. No error 

3. The redevelopment project is aimed (A) / not just providing good houses to 

shanty dwellers, (B) / but also developing infrastructure around the major 

Mumbai localities. (C) / No error (D) 

A. The redevelopment project is aimed 
B. not just providing good houses to shanty dwellers 
C. but also developing infrastructure around the major Mumbai localities 
D. No error 

4. The police is investigating (A)/for the recent happening (B)/in the area. 

(C)/No error (D) 

A. The police is investigating 
B. for the recent happening 
C. in the area 
D. No error 

5. She regards (A)/negotiating prices with customers (B)/as her special 

expertise. (C)/No error (D) 

A. She regards 
B. negotiating prices with customers 



 

 

C. as her special expertise 
D. No error 

6. I had asked him (A)/how he could go out (B)/if it started raining. (C)/No error 

(D) 

A. I had asked him 

B. how he could go out 

C. if it started raining 

D. No error 

7. Another baffling change (A) / that I noticed in him nowdays (B) / is that he 

avoids speaking to me. (C) / No error (D) 
A. Another baffling change 

B. that I noticed in him nowdays 

C. is that he avoids speaking to me 

D. No error 

8. It being a rainy day (A) / I will decide to skip work (B) / and stayed at home. 

(C) / No error (D) 

A. It being a rainy day 

B. I will decide to skip work 

C. and stay at home 

D. No error 

9. His voice shook with emotion (A)/and it was so funny to hear him (B)/that all 

we longed to laugh and to cry. (C)/No error (D) 

A. His voice shook with emotion 
B. and it was so funny to hear him 
C. that all we longed to laugh and to cry 
D. No error 

10. Eighty-five thousand rupees (A)/is a large sum of money (B)/to earn in a 

month. (C)/No error (D) 

A. Eighty-five thousand rupees 

B. is a large sum of money 

C. to earn in a month 

D. No error  



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

A D A A C A B B C D 

 

Explanations: 

1. 

No certain gentleman is mentioned here. Hence, I met a gentleman …… should be used here. 

Hence, option A is correct. 

  

2. 

The sentence is absolutely correct and thus has no error in it. 

Option D is hence the correct answer. 

 

3. 

Be aimed at = to have something as an aim. Hence, The redevelopment project is aimed at 

should be used here. 

Hence, option A is correct. 

  

4. 

Police generally agrees with a plural verb. Hence, The police are investigating ……. should be 

used here. 

Hence, option A is correct. 

 

5. 

Expertise (Noun) = expert/special knowledge or skill in a particular subject, activity or job. 

Ex. We have the expertise in dealing with oil spills. (Correct) 

Ex. We have the special expertise in dealing with oil spills. (Incorrect) 

In the given sentence, usage of the word 'special' before 'expertise' brings redundancy and 

hence should be removed.  

Hence, option C is correct. 

 

6. 

Here, Past Simple i.e. I asked him (recent past) should be used. 

Hence, option A is correct. 

  



 

 

7. 

The sentence shows present time. Hence, Present Simple i.e. that I notice in him now a days 

(present time) should be used. 

Hence, option B is correct. 

  

8. 

The sentence shows a past event. Hence I decided to skip work …. should be used here. 

Hence, option B is correct.  

 

9. 

Here it is position of words related error. Hence, all of us or we all longed to laugh and cry …. 

should be used here. 

Hence, option C is correct. 

  

10. 

The sentence is absolutely correct and thus has no error in it. 

Option D is hence the correct answer. 
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